EAGRAROBREERT — 2 N— IBISH —F

2021568198 (£) SEIBR#1H

12R paEX)-A

1752 $tEE

‘ [ES)! /J\l'?ﬁ‘ [FEERRE] — |2 (&) 12000 =

[A&4)] 1 7% :7,600,000 8 23 :3,000,000 " ~ 33 :1,900,000 3 43 :1,100,000 @ 5 & :760,000 M
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
5 4 3 | ERDEH 1:09.6 1-1 34.7199.0 | 1 402 | BETEE (FER)
1 2| 7% K= 52.0 (=) (-4) THEBS
R:A-KHFO7 BiEALILR J—HTr— L
" — AHEAM :09. — . . ZHET (ER)
21111 HE I B TNH 4 4 R 1(029)9 3-3 34.6 | 96.0 5 (4;2) iEEE*D?;
2:8—KAFA7 BNRAN—FzA1> ZRBT 7 — L
= RS 4 3 | EKHE— 1:10.7 5-4 35.0| 87.5 | 2 442 | ATEER (BR)
37011 T H s 52.0 5) Lo |EEEE
RZAEWN—F B:vRE2—<1> RS
4 4 | HAILBLE 1:10.8 2-2 35.8| 86.6 | 4 466 | FHE— (RR)
4ls|7|Fv17 [B] 55.0 (1/2) ORI
R:A—-KAFAT7 B/ TLRATY YD (B) tAaI-FRL -3 BET7
“ MEEZE— :10. - . . NNHEE (ER)
5 5 FIWLT =Y — % 3 52_0% 1 (110) 9 4-4 35.2| 8.4 | 7 (4_1?2) el
RIET7247 B:Fv—1)-—-X BREMHFV LA/ 77— L4
LRSS 4 4 | ERE 1:11.0 8-6 35.0| 84.4 | 6 414 | FREE= (RR)
6l7l10 71> FZTU—F 55.0 (1/2) © |BREME
R:TwINKEry b BiYIEHI53 BEZ %Y K
S oS B4 | BEARE 1:11.3 12-12 | 34.7| 815 | 9 404 | EDEE (RR)
7 3 1o 2R A52.0 (11/2) (-4) (") &%%
L:ANT =TI B:oA> ) TE21— N B4
=2 4t 3 | BEREREA 1:11.3 12-12 | 34.7| 81.5 | 8 432 | IHEt (FEX)
3 6 K T{//IT 52.0 (742%) 0 | B ERiE
R:F4Z7U—kEry b BITN—Y A
. i 4 | BERX 1:11.7 9-8 35.5| 77.4 | 12 | 412 | B (FF)
9/5|6 | ®V—%—2X 5.0 2 1/2) o) | 8 E5n Ty —s-x 2y
R:T—IRI-X B:d—7714 k1> [EE]skae
Sz it o4 | FEER 1:11.7 5-8 3.7|77.5 | 3 | 458 |BEEE (RR)
1Ml 8| SRET7>H . ¥54.0 (742%) (-q) | BBRSHILY
L:O—KFpFO7 B:dvh—TI>va J—HTp—L
— =, 4 4 | BOUR—EB 1:11.8 5-6 35.9| 76.6 | 11 446 | EESEMH (BR)
110 4| X7 F7VF> 55.0 2 E) (o) | KEEREE
R:VvRE2y14 BTIRRT—IN— [=yvae]
o o9 = FHBE 12, - X X A= (EXR)
1olglisl@szrya i 5 B 1(122)1 9-10 35.8| 73.6 | 13 (4;8) =
L:hxexy BICEFITUvE— LENie]
. # 3 | NERE 1:12.7 9-10 36.4| 68.2 | 10 432 | EEMF (EH)
13/8|12) 717> LAX 52.0 31/2) (2) | BB
L:dypotwrX B XA—bTF7—Y $TH F|x
@ 71 L
) 46.0-34.7
NO>24 L | 12.4-11.2-11.3-11.3-11.6-11.8
@ 1—F—@&BIEf
13—7—
23—7F—
3a0—4— (¥2,7)1-5(4,11,8)10(6,13,12)-(3,9)
43—F— (*2,7)1-(5,11)-(4,10) (6,8) (13,12) (3,9)
[ RN
B OB 2 280M 714K 1-2 440M e & 1-2 1,500 3ER 1-2-11 1,440H
% B 2 130 2-11 200 | | f§ = 1-2 1,560/ | | 3=E 2-1-11 7,590M
1 250M 1-11 550 B H 2-1 2,150/
1" 140M

ARICOVWTRDTEEERROODE. TR LIV,




